
ECE 311  -  Homework #11
Properties of LaPlace Transforms

Use the properties of LaPlace transforms to find the LaPlace transform for the following funcitons:

Problem 1)  Find X(s)

Take the derivatives until you get delta
functions

dx
dt = δ(t) + ...

sX = 1

d2x
dt2 = −0.5δ(t) + 0.5δ(t − 2)

s2X(s) = −0.5 + 0.5e−2s

Total Answer:
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Problem 2) Find X(s)

x = δ(t) − 2δ(t − 1) + δ(t − 2)

s2X = 1 − 2e−s + e−2s
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Problem 3) Find X(s)

x = 2δ(t) + 2δ(t − 2) + ...

s2X = 2 + 2e−2s

x = −2δ(t) + 2δ(t − 2)

s3X = −2 + 2e−2s

Total Answer
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